EARAROBEEIERT — 2 N— IBISH —F

2013%7H208 (+) 2E4RE7H

SR N

B [EE] S

‘ [R1&] & ‘ [REBE] — |2 (&) 12000 B

[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i . 4 2 | BRBIERE 1:11.4 1-1 37.0| 77.5 | 2 460 | REEEZ= ()
115]10] 7V —A b=> 54.0 (=) (=) |H H.o >zd7-FNLF
L:A%> X BiANE=— H—L—+ JvIN> - Ty—LBERS
<5 4 2 | BRBE 1:11.5 1-1 35.5|76.6 | 3 496 | FIEHEE= (i)
20111 TA—X7J1)—L 54.0 (1/2) (—) PIEF 328
R:TT9IEAK B huhIHIS A B4is
TS 5 S s 2 | REES 1:11.5 5-5 36.5| 76.5| 6 462 | FHREX (FH)
317114 Ny F =TT+« 54.0 2 E) (=) BEEAET
L:ZXJrT A —Trp—K=F B:F7T1—-XF71> LI 4505
. o2 | IHEES 1:11.8 5-5 36.8| 73.7 | 13 | 470 |EEZEK (E#)
4 3 I—-X7T> 54.0 (1 3/4) ) IR FH 1
Rixqvavday> B:RF2—L it FER
. S 2 | BR#EA 1:12.0 7-7 36.9| 71.8 | 10 | 448 |HALFRR (E#)
5 7 '7129/)()[//_ * AN52.0 (1 1/4) (=) £}||E
R:TI9vIk=0 B:I9IRZNYT JIRZTyp—L
N 2 | FlEEKX 1:12.0 3-3 37.2| 71.8 | 8 426 | EIRIRRAS ()
68|15 NG S 54.0 7E) (—) |HimRockRacing
R:7y3Is5—L B:7III il @l
S5 4 2 | HIDAE 1:12.3 8-9 37.0| 68.9 | 5 458 | BANE (EH)
7112|7797 54.0 (1 3/) (=) |FHHET
LAY aIR—=5— BT AT7A43IH1) B RS
Yo 2XTAYT 2 g}%ﬁ% 171%:;1 2-2 37.9| 68.5 | 1 (416) %ﬁféé ()
LT =TANNT N BIUTINIIAINRITAS 3> AR EH77—L4
5 5 0 4 2 | SeEAA 1:12.4 15-14 | 35.7| 68.1 | 12 | 396 |ZIIEE (X#)
XL RTATM4 > 54.0 (75%) (—) | B 5TV RI5T 5747
Rix4oagyLyy B:x14x914>7 AXEFTa—T7—L4h
S Sy L5 e A :12. - . . ZAEME— (FE)
TRULTHAL R o2 = 1(31/24)5 13-12 | 36.3| 67.1 | 15 (410) ¥t
RV TEFTILL R B:ivX by Ry hE &R
- SEEEE . . ARIR (£7H)
27y anyx it 2 ke 1712t§‘> 8-8 37.4| 66.3 | 11 (438) RN
LA Lk—L B: XT84 L0722 [k e
_ 5 IS FR#ER : - KEFERIE (35i/)
FATF 1 L4 i 2 S (17.1;% 3-3 37.8| 66.6 | 4 (450) i
L:d—IWRT7Y2—) B:X&—FTT77UH HEKS
— s . EEET 2. — X . KMER (EiH)
77 a1—N 4 2 54_05 1 (112) 8 16-16 35.9| 64.3 | 16 (41_6) P
L:¥x>77A-U72 B:van)-X [ e ]
= # o2 | BEiE 1:12.9 14-15 [ 36.3| 63.3 | 7 448 | KEEER (XH)
XA xIEL—J 54.0 (3/4) —) | W #5TLy k95T 5747
R:29r T v F—FG7—K—K B:Y—-5—ru>ay BORM S
rEr i o2 | BEIE 1:13.0 8-9 37.7|62.8| 9 460 | SIEHR ()
15/5|9|7Z7>77—43 54.0 (172) o | @) HrFoL-vy
R:FFAHRTSLT B:7O-LTELY Y /=Y Ir—LA
=N # 2 | 2Lt 1:13.6 12-13 37.5| 57.2 | 14 462 | RIIAR ()
168 |16| T 7 ~/N1 50k 54.0 3 172) ) |EEEfE
LEILTINMR BiYv—TLAX B &F*E
@ 71 L
) 48.3-37.0
NA>ZA4 L | 12.4-10.7-11.3-12.1-12.1-12.8
® I —F—@EBIERL
13=3r=
20—7—
Gol=5r= (x10,12)-(13,15) (3,14)7(2,5,9)-1,16,4-11,8,6
40—+ — 10,12(13,15) (3,14)7,5(2,9)-1-4,16,8,11,6
[ N3
BB 10 520/ 714K 1-10 850M e E 1-5 860M JEHE 1-10-14 5,470/
8 B 10 1909 10-14 1,060 B = 1-10 1,970/ B 10-1-14 28,870
1 250/ 1-14 1,170 B H 10-1 3,330
14 290M

ABICOVWTRDTEEERROODE. TR LIV,




